Intermediate Algebra (B) Name \Z«QJ\J\

Unit 5 Part 1 Review Classp?)lod 1 2 3 4 5

Problems 1 — 4: Solve the equation by Graphing. Show the Graph AND the Solution(s).
Round to the nearest hundredth when necessary.

1. f(x)=x? + 8x + 7, where f{x) =0 2. h(x)=x* — 8x + 10, where h(x) = -6
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Problem 5: Graph the inequality. Show a table of values.
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Problem 6: Solve the inequality by graphing. Show the Graph AND the Solution(s).
Round to the nearest hundredth when necessary.
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Problems 5 — 10: Solve by Factoring. Show the Factors AND the Solution(s).
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13. A rock is thrown upward from the top of a building. The height of the rock can be calculated using the

function A(t) = -161% +v, -t + h, where:

v, = initial velocity, h, = initial height, A(?) represents the height

of the rock, and 7 represents seconds since the rock was thrown. The building has an initial height of 64 feet
and the rock was thrown with an initial velocity of 128 feet per second.

Ya

250
oo

200
A A

2
s

&
b
[

N
-
[s»)

100

a.) Write an equation that models the height of the rock after ¢
seconds. Graph this equation and label the scales.

N Y= -l ™+ oSk + LY

b.) Find the height of the rock after 1% seconds.
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x ¢.) What is the maximum height of the rock? After how many
seconds does the rock reach this height?
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d.) When does the rock have a height of 256 feet off the
ground?
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e.) When will the rock hit the ground?
X =04
Ot D.47 Second S
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